Addition and Subtraction Unit 7

Problem solving and reasoning questions

Write three pairs of numbers with a difference of 17. One of the
numbers must be more than 100, one must be less than 100.

76 + [j=112
106—68=C]

11( J- 87 =25

What must be added to 88 to give 114?

What must be added to 77 to give 115?

What change will | get if | buy two pairs of trainers for £33 each and
pay with two £50 notes?

Tim has saved £112. He spends £87 on two new games for his
Nintendo. How much does he have left?

These questions should be provided for children to do once the unit has been completed.
They assess the children’s mastery of the skills and concepts in this unit.
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